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integrate (sin x)/x from O to infinity
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| calculated the integral of % from 0 to infinity. The result is approximately
2.2479 with an error margin of 3.2903.

However, it's important to note that this integral is known to be divergent or slowly
convergent, which means the result might not be entirely accurate. If you have any
further questions or need more assistance, feel free to ask!
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what is the exact value?
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The exact value of the integral J'“x "if:“'

converges to 7 /2. So, the exact value is:

dz is known as the Dirichlet integral, and it
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If you have any more questions or need further assistance, feel free to ask!
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